Review -- Ch 15.5
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The polynomial a-+& is called a bf vl ﬁpﬁt j because it has two terms.

. Consecutive powers of a+b [e.g. (a+h) (a+ b)2 (a+ b)3 , etc.] are referred to

collectively as the o w4l Expansion.
. The biv) Uig ‘ Theorem tells us that for any positive integer n
(a+b) = Ca'b"+ ,Ca"'b' + Ca" b+ 1 ,Coa’D
n
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C = v i) in factorial notation.
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. Complete Pascal’s Triangle through n = 10:

n Coefficients of (a + b)n
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8. For the expansion of (a +b)" where n>5, provide the following:

a. The coefficient of the 5™ term is

b. The exponent of a inthe 5% term is

¢. The exponentof b in the 5™ term is yi~5

d. For any term, the sum of the exponents of a and 5 isalways  #]

ay 5 n-3)
e. The entire 5% term is (ﬂé5 )& é’




9. Expand each of the following:

a (-y) = _C(x)ij) C“)) 3L
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b (2r-1)" = C(ax)"ﬁ(; R (Y1) + Ca@ﬂ
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10. In the expansion of (a +b) ﬁnd / T =y
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a. The 9" term ..-: 1 @009 4 & /

b. The 10" term 1.5 wq if 30@3‘5 £ -\\

11. In the expansion of (a~5)", find:
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a. The 9" term :53(, ("1)(5)(500‘; qé&a \:\;
b. The 10" term 15C0 {4 >("'3w3q"’b
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12. Find the 8% term of (p&q) - S@C?(F) (7) Kggé%?g@gwpg’g ’
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13. Find the coefficient of x* in the expansion of (x—l) 10 Q, a/ ) [ X/]
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14. Find the coefficient of x'° in the expansion of (x2 —1)9 jé ;&*M i )
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